

$i^0 = 1$
 $i^1 = i$
 $i^2 = -1$
 $i^3 = -i$

Express in terms of i

1. $\sqrt{-12}$
 $2\sqrt{3}i$

2. $-\sqrt{-288}$
 $-12\sqrt{2}i$

3. $\sqrt{\frac{289}{121}}$
 $\frac{17}{11}i$

4. $\sqrt{\frac{1}{6}}$
 $\frac{\sqrt{6}}{6}i$

Simplify the following expressions. Put each into $a+bi$ form.

5. $(9-6i)-(11-6i)$
 -2

6. $(\frac{1}{9} + \frac{3}{10}i) + (-\frac{3}{5} + \frac{3}{2}i) = (\frac{5}{45} - \frac{27}{45}) + (\frac{3}{10} + \frac{15}{10})i$
 $-\frac{22}{45} + \frac{9}{5}i$

7. $52 - [(16-3i)-(4+7i)]$
 $40+10i$

8. $\sqrt{6}(5-2\sqrt{6}i) + 2\sqrt{6}(3+4\sqrt{6}i)$
 $5\sqrt{6} - 12i + 6\sqrt{6} + 48i$
 $11\sqrt{6} + 36i$

9. $(7+8i)(-6-7i)$
 $-42 - 49i - 48i - 56i^2$
 $14 - 97i$

10. $(2\sqrt{3}+5i)(2\sqrt{3}-5i)$
 $12+25 = 37$

11. $(\frac{1}{2} - \frac{3}{2}i)^2$
 $\frac{1}{4} - 3i + \frac{9}{4}i^2 = -2 - 3i$

12. $(1+\sqrt{2}i)^3$
 $1 + 3\sqrt{2}i + 3 \cdot 2i^2 + 2\sqrt{2}i^3$
 $-5 + \sqrt{2}i$

13. $(i^3 - i)(i + i^4)$
 $(-i - i)(i + 1)$
 $-2i(i + 1)$
 $2 - 2i$

14. $(3i^5 + 2i^4 + i^3 - 2)^2$
 $(3i + 2i + i - 2)^2$
 $(3i - i)^2 = (2i)^2 = 4i^2 = -4$

15. $\sqrt{-16}\sqrt{-81}$
 $4i \cdot 9i = 36i^2 = -36$

16. $-\sqrt{-5}\sqrt{-10}$
 $-\sqrt{5}i\sqrt{10}i = -\sqrt{50}i^2 = 5\sqrt{2}$

17. $(9i^5)(-2i^2)$
 $(9i)(2) = 18i$

18. $(-3i^9)(15i^{23})$
 $(-3i)(15i) = 45i^2 = -45$

